
SAP ABAP table VZGPO {Partner/role object relationship}

VZGPO

MANDT [CLNT (3)]

SNUMOBJ [CHAR (2)]

SOBJEKT [CHAR (13)]

PARTNR [CHAR (10)]

ROLETYP [CHAR (4)]

DTRANS [DATS (8)]

APPL [CHAR (4)]

ROLE [CHAR (4)]

SBBEZ [CUKY (5)]

KUNNR [CHAR (10)]

BP000

MANDT [CLNT (3)]

PARTNR [CHAR (10)]

 VZGPO-PARTNR = BP000-PARTNR 
0..N

0..N

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]
 VZGPO-KUNNR = KNA1-KUNNR 0..N

0..N

T000

MANDT [CLNT (3)] VZGPO-MANDT = T000-MANDT 0..N

0..N
TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 VZGPO-SBBEZ = TCURC-WAERS 
0..N0..N

TPZ12

MANDT [CLNT (3)]

APPL [CHAR (4)]

 VZGPO-APPL = TPZ12-APPL 

0..N

0..N

TPZ3

MANDT [CLNT (3)]

ROLETYP [CHAR (4)]

 VZGPO-ROLETYP = TPZ3-ROLETYP 

0..N

0..N

TPZ6

MANDT [CLNT (3)]

ROLE [CHAR (4)]

 VZGPO-ROLE = TPZ6-ROLE 

0..N

0..N


